C No Regrouping)

Name:
4 TTPR
(_Addition )
a. b. 315 + 222 =
234
+ 65
c. Find the sum of 492 and 106. d.
432
+ 357

e. Jared and Carla went apple
picking. Jared picked 27 apples
and Carla picked 41 apples. How
many apples did they pick in all?

Show your work.

answer:

f. Sarah has 53 animal stickers and
34 flower stickers. How many
stickers does Sarah have in all?

Show your work.

answer:

g. 645 + 31 =

h. Fill in the missing digits.

2
+ 6 1




ANSWER KEY ((No Regrouping )
4 ege )
\Addl’rlon/
a. b. 315 + 222 = 537
234 .
69 + 0229
299 c37
c. Find the sum of 492 and 106. d.
432
492
+ 106 t3957
598 7879

e. Jared and Carla went apple
picking. Jared picked 27 apples
and Carla picked 41 apples. How
many apples did they pick in all?

Show your work.

27
+ 4

68

answer: 68 apples

f. Sarah has 53 animal stickers and

34 flower stickers. How many
stickers does Sarah have in all?

Show your work.

53
+ 34

87

answer: 87 stickers

g. 645 + 31 = 676

645
+ 31

676

h. Fill in the missing digits.

3|24
+ 6 ]




